Homework 8 Math 3C Fall 2019 - Lenz

Name: So /u,‘)LfDnS PID:

NOTE: You must show the steps necessary to arrive at your
answer unless otherwise noted. Use your judgment, if you
can’t do the entire problem in your head, then you probably
should write down at least some intermediate steps.

This assignment has 7 pages. There are 48 total points.

Problem 1 (3 points). Let 8 = 240°.
(a) What quadrant is 6 in?

¥ Qvedront

(b) What is the reference angle of 6?

60~

e A3
(c) What are sin(#) and cos(6)? S}n(2%0°> = -8 "’l(6°3 = <

Cos (2 L/o") = —coS(6F) = ?é_
Problem 2 (3 points). Let 8 = -210°.

(a) What quadrant is 6 in?

@ 2'\{ @ualfMJ‘

(b) What is the reference angle of 6?
307
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(c) What are sin(#) and cos(6)? S (-llD’) =3 (30-> = _\i

CoS(-Z)O") = —@3(30'3 = -43
Problem 3 (3 points). Let 0 = —%’T. 2
(a) What quadrant is 6 in?

SM @uw@/‘aﬂ"

(b) What is the reference angle of 8 (in radians)?

o

q
-3 .
(c) What are sin(6) and cos(6)? S'Wl[ —qg—) < =S/ /%T> o '-‘)2/}

Cos(2F) = ~co5(%)= 2
Problem 4 (3 points). Let 8 = 3% 7

(a) What quadrant is 6 in?
fh

(b) What is the Teference angle of 6 (in radians)?

T

e

L/

(¢c) What are sin(6) and cos(6)?
. l_gj— ' - Z
Su/t[ 7 >; -S,n[%—): [Z—

CGS/-%F ;CDS(%—J" ,;.
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Problem 5 (4 points). True or False.

Let 6 be an angle such that sin(6) > 0. It is possible that 6 is in the
Fa.) SE€  third quadrant.

Let v be an angle such that sin(y) < 0. It is possible that y is in the
7;‘&( e fourth quadrant.

/ Let B be an angle such that cos(8) < 0. It is possible that 8 is in the
F al5¢& fourth quadrant.

Let a be an angle such that cos(a) < 0 and sin(a) > 0. It is possible
Truc that « is in the second quadrant.

Problem 6 (4 points). Let @ be an angle such that sin(a) = %, and « is in the second
quadrant. What is cos(@)? (HINT: recall that cos(9)* + sin(8)* = 1 for any angle 6)

(Pyﬁmgoréa/l Ial&ﬂl#}/
Cos+(©) tsin*(0) = |
= cos¥e) 4 (%)L =
= cos?6) + —}g - 2=
= Cosl/ﬁ) 5

D os6) = i,(;

B,l G is mp H"e Sewnj uaa()fa,# so
tos(®) <O, Thus ]cas[{ﬁ:’——j




Homework 8 Math 3C Fall 2019 - Lenz

Problem 7 (6 points). Fill in the coordinate of each point on the unit circle below.
Note: You will be required to do this with no notes on quizzes/exams in the
future!

X<O A X >0

¢y D ¢4

)/>O )[>D
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Problem 8 (2 points). Find the coordinates of the point on a circle of radius 6 at an
angle of % radians

X:F-cosﬂ%-‘—é Cosf%rﬁ«:g.—‘y—_;B

y=r-sin(6)= € sin(%) =692 =303

/K//S = (3/ 3@)

Problem 9 (4 points). The point (=7, =73) lies on the circle of radius 14. At what
angle around the circles does this point lie?

X=-/ = P*COS/Q) = [q, cos/@)
= -7= /f/aosfﬁ)
= cosl®) ="é—

y= -7J3 = r-sim(®) =4 5n(6)

> -74/3 >/L/S/‘I4/9)
= sulb) = '-%

Wha‘/’ a/Lg/g soc)-js /@S loo‘/'A CoS[ (9 ) - - MJ
o)< 12 7 t ¢ oy
Sinl@ )= 2 I &= 20" .0 240

ol

(4
t_/g-’/glp Page 5 e

/

=

- - &=24o°

~
~
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Problem 10 (8 points). Compute the following:
(a) tan(135°) ﬁ

(b) csc(g)

I -
csa(?)is;np{> = A ;2

(c) cot(4F) _
3 Co S/ q‘fn—) B =

da\ _
Co+/33’s;n[_t_{%bz)— -Li

(d) sec(180°)

- 1 _ 1
sec(1ge) = cos(igsd ~— — /
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Problem 11 (8 points). Simplify the following expressions into a single trig function
with no fractions:

(a) cot(0) sin(0)

cotB) sinlb) = c;?:f; .snlB) = cos(6)

(b) sec(8) ese(6) —— 5; T Wesk lOl we Jeorn that
s:n&&S = 23/’&4(9) Ccs(GS,

Afo% 3(\M Msmi Hais:

secl)esc(6) = oy 5ot5) = ;"—m@mw

0 0 _
(¢) cse(6) cos(6) = o = 2 sty 2l

esclB)cos(B) =

COS/Q) = chS[&) _ Co+(§>

n( )
n()? sin(®)
—sin
(d) sin(6)? )
. ~sn*(6
Since  sin®) 7"60'5&/9)—"—// So I/S'——
’ # 71% ./— , ) Sint e 3
s Frue tnat cos?)= (-sin2(8) _ cosiB)
1,2
[OPTIONAL] Sin*(6)
Survey Questions. 2
1. Do you find the lectures to go: =c 0'/’ / & )
too fast too slow roughly the right speed
2. How do you feel about Midterm 2?
Not confident Somewhat not confident No Idea Somewhat confident Confident
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